
應物三甲 0932349 許銘泰

Pedrotti OPTICS: Problem 5-18
A certain argon-ion laser can support lasing over a frequency range of 6GHz. Estimate the number of standing wave modes that might be in the laser output if the laser cavity is 1 m long.
Ans:
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可得到νm ＝ m
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鄰近駐波的頻率差 νm+1 － νm ＝ (m＋1)
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                  c ＝ 3 × 108 
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  題目給定了d＝1 m

                 νm+1 － νm ＝ 1.5 × 108 Hz

題目有給頻率的範圍為 6 × 109 Hz

N ＝ 
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＝ 40 即為所求
_1224823319.unknown

_1224823779.unknown

_1224823896.unknown

_1224824436.unknown

_1224823831.unknown

_1224823740.unknown

_1224823059.unknown

